
 

I S L E V E R

ST0-114
PGP Universal Server 3.0 Technical

Assessment

DEMO

https://www.islever.com/st0-114.html

https://www.islever.com/symantec.html

For the most up-to-date exam questions and materials, we recommend visiting
our website, where you can access the latest content and resources.



QUESTION NO: 1 
 
The WDE Disk Administrator Passphrase allows an administrator to?
 
 
A. Log into the PGP Universal Server. 
B. Authenticate at BootGuard on any system in the Consumer Policy. 
C. Change a user WDRT from the server.Change a user? WDRT from the server. 
D. Run a bypass on the user system even if it is powered down.Run a bypass on the user? system
even if it is powered down. 
 

Answer: B

Explanation:  

 

 

 

QUESTION NO: 2 
 
Which of the following will cause Silent Enrollment to fail?
 
 
A. Directory Synchronization is enabled and there are multiple directories enabled. 
B. LDAP Enrollment is enabled but the Bind DN has been entered correctly. 
C. Key Reconstruction is enabled. 
D. The Windows username / password are different than the LDAP credentials for the user. 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 3 
 
Clustering can be done during or after installation and setup of a PGP Universal Server.
 
A. True 
B. False 
 

Answer: A

Explanation:  

 

 

 

QUESTION NO: 4 
 
An Additional Decryption Key (or ADK):
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A. Is often split into shares for security. 
B. Can be used for decryption of files and emails. 
C. Should only be used in situations clearly defined by an organization's security policies. 
D. All of the above 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 5 
 
If you move an encrypted file out of a PGP NetShare protected folder and onto your Windows
desktop what happens?
 
 
A. The file is decrypted 
B. The file remains encrypted 
C. The file remains encrypted only if it is protected by the blacklist 
D. If advanced user mode is enabled it stays encrypted 
E. It is decrypted if the file is data created by an application on the blacklist 
 

Answer: B

Explanation:  

 

 

 

QUESTION NO: 6 
 
Which of the following PGP Desktop utilities has a command line interface?
 
 
A. PGP NetShare 
B. PGP Zip 
C. PGP Virtual Disk 
D. None of the above 
 

Answer: A

Explanation:  

 

 

 

QUESTION NO: 7 
 
What methods can be used by Web Messengers to authenticate to an inbox?
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A. LDAP, Dictionary or Passphrase 
B. Token, Passphrase, or TPM 
C. Passphrase, LDAP, Radius 
D. Ignition key, LDAP, Radius 
 

Answer: C

Explanation:  

 

 

 

QUESTION NO: 8 
 
ADKs are only used for Messaging.
 
A. True 
B. False 
 

Answer: B

Explanation:  

 

 

 

QUESTION NO: 9 
 
PGP Desktop is required to use the Out Of Mail Stream (OOMS) feature of PGP Universal Server.
 
A. True 
B. False 
 

Answer: A

Explanation:  

 

 

 

QUESTION NO: 10 
 
There are several administrative levels available for logging into PGP Universal Server.
 
A. True 
B. False 
 

Answer: A

Explanation:  
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